\/,
i 5
% N R e

ek £ kg be ffumbible focis o Gb) 4

J

oen ichind o tviniung € oot possily e (trelf. fome

M@kx)f() for X 1 (40) exapt possibole A el

:Ef e Lt o+ Lo @ X apvear <

MAS 60{) BL -,f_.‘Q-E- = I
| e {\,\Au;_'\‘-evm:»\a'l‘c ‘(ofw\ o |, :Iflﬁe-}{'_ o e M\ WL
| (i 'Iil(‘) = Lt van "F/UL)__*‘_ MG S T N——

x2¢ 4 X2C 4k

TP e e _

T I A Y

J.‘ Mbin ’Lﬁd’@:’w\}ﬁ chms & —% ¢ (\>,<\) B
Bl ) | .

| \: i (x~2)
iy
| xop Z2x—N |
| B Stop.
” Liwa  Siv x-2) 3w -2 ) = SmQ) JEJ
| T 2 (2) —4 o [O]
| : N | d‘ Crin€x ,,\7
i @u(x2) Yoty g B
XL 2x-Y Fyvies el 2x ~4)
Lo, tos (x=2) - |
j\ = XD g 2
| o _tos (@ -2) _ cos ©®)
| =T T2
I = —f—= —




E.‘xm‘-«".
L L, S0 _ o S%PL
v. ks 2 = 1 ©)
o) e g

x26 X
| o J
: k-, (x3
— ity a
s s S(O()
_ LoSCG)
£ = -
4/
\!
R S \)
X 2~ : ——”KL = -y = L
| X-2 () -2 =
“ O
R
| L{—- ™ — ;
27 x_x"’) =l A%EQ“U”L
| 2 x> 4
:l“"’) ‘\z‘_C‘{—-X:’/LaQ(-l)
x-~22" L1 ))‘ (‘le
= liwg = X
e it il
=t Neot aun Tdifonanat
) {:o\(\y\ .
oy e
— >
14
R et Leorsase’ .
w‘tM“O‘”\'bwA) R
adnS
o ¥ o\ 1
W



— 1) =
8 1, MOY e [eo
CxP0 Ok e

’“W/ [_\;t_CK:) 1 I,M MKBVI&O]

I~ 2
e X->p0 d%[ x> ]
| x>w 3 x%
/ . \H/V] _H:—————
x>0 Sx>
- R 2

wARM G- ) —(

I e & O - i
L% You o e n °Y "o o ZR

‘jt)w C an wa-e__ L’ﬁ%,o/f\é/_/s ,2.0{,( )

| Vou e  va. 0 L4 — 8, @Cz
lwlor 060 yYou  ur nee o G Qéa/“d_(

0\ QOV\MCR\O\A +UA/\V‘4@M MM.H[

U)DV\ 9}7\'\ o/-g/ ‘Jo,*.




F‘j,% N X“W\@:) = 00 danld)= [0 0

I X P b/m«ﬁ:
- im Y; 4""“‘/@[) . iﬂ
! X212 - L ’ /? (1Se !.E?‘ ??
e PO
s P ) L B B
T‘ X 2 L e U L 4
;'L e Aixz}(m,\ (x™){
X200 ﬁj\k‘x 2«: K_\,j

L g sec”(x") ',Cﬁ"ff}

il [l ")
= ' S et (;1:) broorr s pass
X0 /: ; 5' T
__cecC . f \‘."") l N **j o caitiuaa s
1 . easd TS St |
<l S'?/CL (o )




> /5/

<7\ | L]
Beamle Shep L
f‘ _ _
I T T Y A A Py
C xDp [ x>\ 0 0 ——

|

(i T T P T

';:l—_\ N X0 [_,,2( X Sua(x) 5/:4(:() X"/{

x20 ( X Siu(c)
{
stop [
::\\M VX"E‘)M(X)—7 - O~ 0 ,\]é\
| x0 | xrsiuco D) 2y
| n o
T R
X0 4 :
A - :
~ I———C¢os <)
;F X0 WL (Le360) + (5460 (2%)
| step L
L T o S T e
| ¥ xlcobct) +-2xsfnc,t) O Yo &) }
1|, i&[_\ ~ o5 |
¥90 S bons o dessel
! YN~ = =2
= l\lM '- ('—s',l"\ KD — SEV/’
X0 T2y pon ) A 2xcaste) + 2x(856) F-2siucx) o
<2 a ) e O S G
e o R TRl O TTEENT e — —
X0 \Pew ) 4+ Hxeass) +2siny  OtO+O ¥é J
= \;VVJ ﬁAK E.SIM (KD
X726 A s cm ) 4 l
A [ +Hhost) +25m (x 2(
L




2 G’/@/

=l o @

X0~ X0500 +Siulx) () +Y9x (~sinw) + Y cosé) + 2 cosx)

—hw cos (X)
___lIx¥®o ~XCos&k) — X1 ) + 6costx)
_ Les (©)

-—
—

O + o + 649310;

i "‘ —¢ 7

-‘,l,n'vv; (es @*K\]x \ tos | Wa—x )= 1k x)
x>0 e el | L (% —X) = cos x)

' .Y—— ——
T x=20"

M\ y:‘_ ,n'w\ Eﬁm(x)\_gx

X206t

l\/\(lj) = R (l\'m E«Sz’vzhﬁ)]x)

x>pr

lM«j): v ( X + In Esiucxﬂ>

X2 ot
1

la ) =l [ X lnLsincs] . ;\«] )
s Ml \ x



#s0 - -
I PR R ki =
I xoot \  x )
1 b / T
‘f /oQ [ | et ’K‘-lj o
= lim Jge LR
—J x=c" ] =
, ) ioid
| -~
l| \n(_\j) = \\M /1 (x) A
[ XQO‘F "l‘X—L 1
- Cam we 4o g’“?
g\ gy A NPT N I <N
1 7 —— =
I X% oL =R
| lXL S*"‘PL us_eu"‘j)
lagane Lg% =\ 1 U s
l M TS L 9] Rk
\g__(y\\~ \IM Zﬁﬂ Kz}
1 X—QO‘# d,:l‘w N;\{
(]
lV\Llﬁ] = \lVV) — < X
X0 seet (%)
T gz =290
Aoty | e
4ol [ ntp=0 ¢ Now, tand g
‘\“{f{w\f/ h fa o)
/// f' & e P =
. ()ﬂ M= l | S A, Biucx):\ = \
‘ e x_¢7.0+ /\‘







